AR B 32 H S5 B PR

(2020 EFF)

TiH 45

b3 B it 25

FEHI

g YRR e S L

EigiRs e R

S it AL o

FEYITAEL

TS

éj\

EEPATE | E | HATEH

=
F

it

o
o

VA

2520

2520

2031 10 80.6% 8.06

TH B4
(Jize) g

L

S EHR K

2520

2520

2031 -

LEEGERE

HoAth %

T H As

WP R KB EOE, e E R R, SEEES
LN AR ARG, W SCBRBEHB 2R, nsm k= i
SROREE, $REBRSTRCR, W =R T BT AR
HARACF 5 H .
()55 2 et o TAF R 2 /e, S &% R 15 2100%
) gy PAKE, BT AR
()R B RAE B RE, V& SAH R L

(153 BB OE TAR R e/, St
FiLF168%.
()BT PAKY, HREEST R,
(3) B BRI L, V& S Kl

.

o

1=}
H

P

—JidabR

g

=X E =y

FHE
FRbRE

i 22 S AL 3 M e
S it

Kb

s |8

el
3

HEARR

T H it AT bl

=100%

BT B P S0 =
B 5 0 E KA
PR T4 52 1) L 9iE
HME1T;2021
FEIH RIS R
E5E, B it
THFRE TR
K, 20214E1%

TR S it 52 Bl o

=84% 10 | 84

7 AR AR

[ AR bR

IH A iR

=100%

RIWFRE E p SEh =
) s B H R AL
FRIR T 4% 58 il JL 4iE
Witi47;2021
FEIH RIS R
EsEk, /EE
THREEZIT R
K, 20214E1%
T W St 52 AR o

=68% 10 | 6.8

I Rcdibs

o AR 58 R 15 60

=100%

RIS S2h =
S s B H R AT
FRIR T 4% 5 il L 4iE
WHi47;2021
EIA RIS R
TSR, B
TARECZEIT R
K, 20214E1%

TR S 56 B

=68% 10 | 6.8

AN VG K= a

TR

15 15

G ETE LA




FIFRE R AR =100% =100% 15 | 15
NZE S

=1009 =1009 1 1
i 100% 100% 5 5
WEERR RS R E R
e >=80% =89% 15 | 15
BE (KE) WEE 80% °
vy 100 | 90.06




MBIRE 2 LS BITER

(2020 £F[E)
BT AHDETE
] S RRER AR A i il
YIS SEMEN | SENTH | PE|HTE] B8
FERETER 750 750 73273 10 [97.70% 9.77
MEAS | g wermmg | 750 750 73273 -
(A7)
FEGEAS —
Hitgs _
e SEFR SRR
e

SAISTRECRIIATNE ¢ (1) BERESChAEHREmRIb R

BfNmBEETE , FEdukEz.

(2) FERHEER

(1) SeRAEHEmIBERI B FRE I E
FrEYERDERREFESRZ,

(2) &

JsE 9 sk 3 o, *%ﬁ B$ﬁ§§%?5%§ﬁ$ﬁ433%0 I} Eﬂﬂ'
%;E%%ﬁ124 %o , Eﬂﬂ%%ﬁ)”wagﬁzz 97%. %%fmﬁ%ﬁgﬁ986%o
| - — — B FE SR p REREDHTR
— 5/ _Z 5/\ =2 b/\ — N o =FAS N
TR ITHRITERER (%) >=99.8% 100% 10 10
ey 2 4k SRS B E R A B RIS B A =
HEIAZL.
g sti=tay
vaE RS T 2 o | BRI a0 | 1o
BRI PR— =100% 100% 10| 10
%=
b3 - U ~—
=
Gyagsian [ AR g0y, 100% 10 | 10
BE
MR OERERERR
ERERHOES Bt s,
NP RS THARE , RETAENEE | | 5 [0 OIADE
[ e G M RO R R R DA RE T EES |1’ZL FHEEIRIN

-1 -




et  AERTERE. BUIREIETIEs
1A
ST {ELER
e B3 L s P
B EARKEINT SHER S, RfEED 10 | 10
EEkFERES
AR ISR ]
ARE = =100% 100% 10| 10
il 100 | 97.77




